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1t LS #/ Dependent Variable is GR
Date: 09/17/02 Time: 11 43
‘Sample: 1970 2000

‘Included observations: 31

‘GR=C(1)+C(2)*CFDI+C(3)*COFC+C4)CS +C(5GRL+C(B)*CX

Coefficient  Std. Emor  T-Statistic Prob.

ci) 5049235 0.845374  5.972781 0.0000

C(2) 2234842  0.650140  3.437477  0.0021

C(3) 0384709 0208541 1.844762 0.0770

C(4) 0339990 0.184750 1.840270 0.0776

C(5) 0325190 0.204545 1589813  0.1244

C{6) 0076325 0131657 0579725 0.5673

- R-squated 0.476780 Mean dependent var 5.873184
' Adjusted R-squared 0.372136 S.D. dependent var 4198310
 S.E. of regression 3.326652 Akaike info criterion 2575918
| Sum squared resid 276.6654 Schwartz criterion 2.853464
Log likelihood -77.91383  F-statistic 4.556204
I DurbinW atson stat 1.615085 Prob(F-statistic) 0.004329

GR = growth, rate of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI = FDI / GDP, - FDI/GDP ¢.1))

COFC = change in other foreign capital (OFC ) as a proportion of anp
( AOFC = OFC / GDP, - OFC/GDP t-1))

CS = change in savings rate as a proportion of GDP
(AS=S/GDP, -S/GDP (1))

GRL = growth rate in employment

CX = change in export as a proportion of GDP
(AX=X/GDP; -X/GDP ¢.1))




11.LS // Dependent Variable is GR

(:Date: 09/17/02 Time: 12.07

I 'Sample: 1970 2000

»s’slncluded observations: 31

| |{Excluded observations: 0 after adjusting endpoints

| {GR=C(1)+C(2)*CFDI+C(3)COFC+C(4)CS+L(5)GR L+C(B)*CX

Coefficient Std. Error  T-Statistic Prob. :J

ct) 5874926  1.401105 4193068  0.0003
C[2) 1.082526  0.406508 2662987 0.0134
C{3) -0.027411 0140733 -0.194772  0.8471
C(4) 0.475385  0.21647 2196473  0.0375
CB) 0422973  0.343551 1.231179  0.2297
C(e) 0269208 0139104 -1.935304 0.0643 |
| R-squared 0.495337 Mean dependent var 7.197522
|| Adjusted R-squared 0.394405 S.D. dependent var 3.959286
" |t S.E. of regression 3.081116  Akaike info criterion 2.422569
|t Sum squared resid 237.3320 Schwartz criterion 2.700115
|| Log ikelihood -75.53692 F-statistic 4.907607
| LL Durbin‘watson stat 1.158872 Prob(F-statistic} 0.002895

GR = growth rate of GDP
CFDI = change in foreign direct investment (FDD) as a proportion of GDR
( AFDI = FDI / GDP, - FDI/GDP ¢-1))
COFC = change in other foreign capital (OFC) as a proportien-of GDP
( AOFC = OFC/ GDP: - OFC / GDP 1))
CS = change in savings rate as a proportion of GDP
. (AS=S/GDP, -8/GDP 1))
GRL = growth rate in employment
CX = change in export as a proportion of GDP
(AX=X/GDP; - X/ GDP g-1))



LS // Dependent Variable is GR

- Date: 09/17/02 Time: 12:13

{ Sample: 1970 2000

| Inchuded observations: 31

| Excluded observations: 0 after adjusting endpoints

\ GR=C(1 ]+EZ[2]"CFD|+C[3]“CDFE+C[4]“CS+C[5]"GHL+E[B]"D<

Coefficient  Std. Emor  T-Statistic  Prob.
C(1) 1683563 0.904897  4.070701  0.0004
C(2} 0395475 0651528 0606996  0.5493
C(3) 0.018310 0.153133 0.119572 09058
C(4) 1185301 0256312  4.624443  0.0001
C(5) 0.074788 0192947 0387611  0.7016
C(6) 0244376 0183334 -1.328609 0.1960
R-squared 0.477893 Mean dependent var 3.550403
| Adjusted R-squared 0.373479 S.D. dependent var 3.681366 |
i1t S.E. of regression 2913915 Akaike info criterion 2.310960
Sum squared resid 212.2725 Schwartz critefion 2.588526
Log likelihood -73.80729 F-statistic 45768390
| Durbin-W atson stat 1.052583 ProbfF-statistic) 0.004227 |

GR = growth rate of GDP
CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI = FDI/ GDP, - FDI/GDP .1 )
COFC = change in other foreign capital ( OFC ) as a propertion of GDP
( AOFC = OFC/ GDP, - OFC/ GDP -1 )
CS = change in savings rate as a proportion of GDP
(AS=8/GDP, -S/GDP ¢.1))
GRL = growth rate in employment
CX = change in export as a proportion of GDF*
(AX =X/GDP, - X/GDP 1))



LS // Dependent Variable is GR

|| Date: 09/17/02 Time: 12:13

It $ample: 1970 2000

It Included observations: 31

|l Excluded observations: 0 after adjusting endpoints
GR=C(1 }+C[2]"CFD|+C[3]"CUFC+E[4]"CS+C[5]"GF!L+C[B}°‘D<

Coefficient  Std. Emor  T-Statistic ~ Prob.
cn) 6625371 0.647875 10.22632  0.0000
C(2) 0250996 0.158240 1596175 01253
C(3) 0.039312 0.028505  1.400153  0.1738
C(4) 1135791 0.294698  3.854081  0.0007
C[5) 0124337 0133672 0930165 03612
C(6) 0012430 0045130 -0.275433  0.7852
-t R-squared 0.534241 Mean dependent var 8.093548
|| Adjusted R-squared 0.441090 S.D. dependent var 3504700
. |I:SiE. of regression 2620125 Akaike info criterion 2.098429
1l Sum squared resid 1716263 Schwartz ctiterion 2.375975
|| Lag ikelikopd -70.51275 F-statistic 5.735174
 {I' Durbin-y/atson stat 1.353919  Prob(F-statistic) 0.001171

GR = growth rate of GDP
CFDI = change in foreign direct investment (FDI) as a proportion of GDP

( AFDI = FDI/GDP, - FDI/GDP 4-1))
COFC = change in other foreign capital (OFC ) as a proportion of GDP

( AOFC = OFC/GDP; -

CX = change in export as a proportion of GDP

-OFC/GDP¢-1))
CS = change in savings rate as a proportion of GDP

(AS=8/GDP, -8/GDP (.1))
GRL = growth rate in employment

(AX=X/GDP, -X/GDP g-1))




il £5:// Dependent Yariable is GR
i Date: 09/17/02 Time: 12:24
' Sample: 1370 2000
1 theluded observations: 31
'J H-C[‘I J+C(2)*CFDI+C(3PCOFC+C(4)*CS+CSyGRL+CEI'TX
? Coefficient  Std. Emor  T-Statistic Prob.
c(1) 6.590049 0.759233 8679877  0.0000
C(2) 0609455 0.732303 0832244 0.4132
C(3) 0158012 0137061  1.152862 0.2599
C(4} 1.257212 0.343710 3595014 0.0014
C(5) 0196246 0.183680 1.068403  0.2955
3 C(6) 0632667 0197299 -3.206633  0.0037
; E-squared 0.629148 Mean dependent var 6.453677
|| Adjusted R-squared 0554978 S.D. dependent var 4354580
; | SiE. of regression 2904840 Akaike info criterion 2.304811
! q Sum squared resid 210.9663 Schwartz criterion 2.582357
| |li Libg likelihood 7371166  F-statistic B.482471
+ [ Durbin‘Watson stat 1.666334 ProbiF-statistic) 0.000084
g | S s

GR = growth rate of GDP ‘ g
CFDI = change in foreign direct investment (FDI) as a proportion of GDP
(AFDI=FDI/GDP; -FDI/GDP 4-1y) PP

COFC = change in other foreign capital (OFC ) asa proportion of aDp
(AQFC = OFC/ GDP, - OFC/GDP .-1))

€8 = change in savings rate as a proportion of GDP
(AS=S/GDP, -S/GDP (1))

GRL = growth rate in employment:

CX = change in export as a proportion of GDP
(DX =X /GDP; - X4GDP a1y 4 + {44



- {t 1S #/ Dependent Variable is SY
It Date: 09/17/02 Time: 11:46
{ Sample: 1970 2000

Included observations: 31
| SY-CU ]+C[2]"CFD|+C[3]“CDFC+C[4]“GH+C[5]“GRL+C[B]“D<
a4l +C(7)SYLAGT
Coefficient  Std. Error T-Statistic Prob.
cm 4978000 2454002  2.020843 0.0537
C(2) 0051472 0729249  -0.070583 0.9443
C3) 0285123 0204496 -1.408942 01717
C(4) 0287415 0175337  1.639217 0.1142
C[B) 0453202 0175871  -2.576897 0.0165
C(B) 0180815 0.116876 1647072 01349
C[7) 0799422 0.080523  9.827826 0.0000
- R-squared 0.820264 Mean dependent var 26.06740
 Adjusted R-squared 0.775330 S.D. dependent var 6.486741
' S.E. of regression 3.074671 Akaike info criterion 2.442076
' Sum squared resid 226.8865 Schwartz criterion 2.765879
Log likelihood 7483926 F-statistic 18 25490
| DusbinWatson stat 2352715  Prob(F-statistic) 0.000000
ey = ed

SY = gross domestic saving rates as & proportion of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI = FDI/ GDP, - FDI /GDP ¢.1y)
COFC = change in other foreign capital (OFC ) asa proportion of GDP
( AOFC = OFC/ GDP, - OFC/GDP ¢-1))
GR = growth rate of GDP
GRL = growth rate in employment
CX = change in export as a proportion of GDP
(AX=X/GDP, -X/GDP ¢-1))
SYlagl =SY-1)
lag! of gross domestic saving rate:as mpwp«mtow of GIP, |
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i LS // Dependent Variable is SY
1 Date: 03/17/02 Time: 12:09

1| Sample: 1970 2000
j x ineluded observations: 31
Il Excluded observations: 0 after adjusting endpoints
o 8Y=C[1 ]‘-rC[Z]"CFDI+C[3]"CUFC+C[4]"GH+C[5]"GHL+C[B]"D<
+C[7)*SYLAGH
Coefficient  Std. Eror  T-Statistic  Prob.
Ci1) 0709558 2841336 0249727 0.8049
C(2) 0578793 0351118 -1.648445 01123
C(3) 0.036326 0112824 0321968 0.7503
Ci4) 0.277451 0150433  1.844352 0.077%
C(5) 0509518 0266765  1.909983  0.0682
: C(6) 0.437890 0100957  4.337391  0.0002
| } ’ C{7) 0.861073 0071342 1206967 0.0000
- |t R-squared 0.905324 Mean dependent var 34.36628
1t Adjusted R-squared 0.882405 S.D. dependent var 7.209692
1 S.E. of regression 2472357 Akaike info criterion 2.006023
! Sum squared resid 146.7011 Schwartz criterion :
| Log likelihood -68.08045 F-statistic

Burbin‘wWatson stat 1.587727 Prob(F-statistic)

SY = gross domestic saving rates as a proportion of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of G*Ei?*
(AFDI = FDI/ GDP, -FDI/GDP . 1y)
COFC = change in other foreign capital ( OFC ) as a propertion of GDP
( AOFC = OFC/ GDP, - OFC/GDP ¢. 1)) "
GR = growth rate of GDP
GRL = growth rate in employment .
CX = change in export as a proportion of GDP.
(AX=X/GDP, -X/GDP¢.y1y)
SYlagl =SY,.,

‘‘‘‘‘‘




LS // Dependent Variable is SY

Date: 03/17/02 Time: 12:15

Sample: 1370 2000

Included observations: 31

Excluded observations: 0 after adjusting endpoints

SY=C[1+C[2)*CFDI+C{3)*COFC+Cl4)*GR+C(5)*GRL+C{BJ*Cx

+C(7)*SYLAGH
Coefficient  Std. Emor  T-Statistic  Prob.

C(1) 41.749579 1993532 -0.877628  0.3888
C(2) -0.093591 0383253 -0.244202 0.8032
C(3) 0.031843 0093872 0339280 0.7374
Cl4) 0.389044 0086965 4.473575 0.0002
C(5) 0014418 0113122 012745  0.8336
Cie) 0190935 0127288 1500374 0.1466
C?) 1.000488 0.086232 11.60230 0.0000

R-squared 0.889321 Mean dependent var 20.26062

Adjusted R-squared 0.861651 S.D. dependent var 4.580281

S.E. of regression 1.703647 Akake info criterion 1.261222

Sum squared resid 69.65793 Schwartz criterion 1.585026

Log likelihood -56.53604 F-statistic 32.14057

Durbin-W atson stat 1.971304 Prob(F-statistic) 0.000000

SY = gross domestic saving rates as a proportion of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI =FDI/ GDP, - FDI/GDP (1))

COFC = change in other foreign capital (OFC ) as a proportion of GDP
( AOFC =OFC/ GDP, - OFC/GDP 1))

GR = growth rate of GDP

GRL = growth fate in employment :

'CX = chahge in'export ds & f)répbrl:ion’“of GDP.
(AX*-'*X/Glet »X/GﬁP (,_n)

'YlaglﬂgY(..u)
1ot é‘ﬁss amm psing gaxe?s a*prgowﬁ;pt{g of 6B




LS // Dependent Variable is SY
Date: 03/17/02 Time: 12:20
Sample: 1970 2000
Included observations: 31
Excluded observations: 0 after adjusting endpoints
SY=C(1 +C[2J*CFDI+C(3)*COFC+C(4)*GR+C[5)*GRL+C[6)CX
+C[7)*'SYLAGH
Coefficient  Std. Error  T-Statistic Prob.
cM 0799167 1581259 0505393 06179
C(2) -0.072325 0088330 0813276 04241
C(3) -0.003461 0.016089 -0.215116 0.8315
C(4) 0.303004 0.092843 3263604 0.0033
C[5) 0.033193 0075366 0440421 0.6636
C(6) 0.018305 0.024336 0752184  0.4593
C{A 0978062 0.030562 32.00244  0.0000
R-squared 0.979721 Mean dependent var 39.38174 |
Adjusted R-squared 0.974651 S.D. dependent var 8.932678 |
S.E. of regression 1.422193 Akaike info criterion 0.900088 |
Sum squared resid 4854361 Schwartz criterion 1.223892 |
Log likelihood -50.93846 F-statistic 193.2480
Durbin-W atson stat 1.691508 Prob{F-statistic) 0.000000

SY = gross domestic saving rates as a proportion of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI = FDI/ GDP, - FDI/ GDP (1) )
COFC = change in other foreign capital ( OFC ) as a proportion of GDP
( AOFC = OFC / GDP, - OFC/ GDP ¢-1) )
GR = growth rate of GDP
GRL = growth rate in employment
CX = change in export as a proportion of GDP
(AX =X/ GDF, -X/GDP 1))
SYlagl = 8Y¢-1) : SEEE N ‘
lag} of gioss donestio saving raje a8 agpgoboid;og of GDP



LS /7 Dependent Variable is S
Date: 09/17/02 Time: 12:26
Sample: 1970 2000
included observations: 31
SY=C(1)+C(2)*CFDI+C(3*COFC+C{4)GR+C(S)G RL+C(B)*CX
+C(7SYLAGT
Coefficient  Std.Eror  T-Statisic  Prob.
c() 0372796 1194515 0312090 0.7577
C{2) 0297833 0331272 0899058 03776
C(3) 0.002087 0.064448 0032381 09744
Ci{4) 0304765 0076381 3930033  0.0005
C(5) 0.027823 0090279 0308185 07606
C(6) 0314782 0094335 3.334740 0.0028
CA 0934025 0042086 2219315  0.0000
R-squared 0.967159 Mean dependent var 27.67795
Adjusted R-squared 0.958948 S.D. dependent var 6.471404
S.E. of regression 1.311184 Akaike info criterion 0.737540
Sum squared resid 41.26087 Schwartz criterion 1.061344
Log likelihood -48.41897 F-statistic 1172.7973
Durbin-w atson stat 2068397 Prob(F-statistic) 0.000000

SY = gross domestic saving rates as a proportion of GDP

CFDI = change in foreign direct investment (FDI) as a proportion of GDP
( AFDI =FDI/ GDP; - FDI/GDP 4_1))

COFC = change in other foreign capital ( OFC ) as & propottion of GDP -
( AOFC = OFC / GDP, -OFC AGDP girj)

GR = growth rate of GDP

GRL = growth rate in employment . . -, :

CX = change in export as 2 proportion ?fte?g
(AX=X/GDP, -X/GDPy.1))

SYlagl =8Y-1) VRN P




